
 
Free Standing Blind Installation Instructions ς Part 2 

1 
 

  

 

 

 

 

 

 

Fit the 3 number  4x2 floor bearers to the 

hangers and screw fix to secure using 

30mm screws provided. 

Ensure the bearers are installed with the 

long edge of the bearer downwards- angle 

cut to accommodate side sloping inwards. 

48 x 30mm screws needed. 



 
Free Standing Blind Installation Instructions ς Part 2 

2 
 

 

 

 

 Evenly space out the 9 number 1.8m long 6x1 floor boards and fix down with 2 x 70mm screws at each floor 

bearer location 

 54 x 70mm screws needed. 

Remove the temporary 3.0m long 38x63mm diagonal brace 

fitted to aid lifting the blind to upright. 

Measure the diagonals at base level to ensure the 4 support 

frame legs are square with 90° corners- or as good possible with 

your ground conditions 

When both diagonals measurements are equal the 4 legs will be 

square. 



 
Free Standing Blind Installation Instructions ς Part 2 

3 
 

 

 

    

              

 

 

 

          

      

Fit the 2 number approx. 3.0m long 38x63mm bottom diagonal braces ς note; one above bottom rails of front 

and  back panel bottom 4x2 rails and one below. Use 2 x 100mm screws at each end of the braces to secure to 

the bottom rails of the front and back panels. Fit 4x4 brace support block at intersection of bottom diagonal 

braces using 2 x 100mm screws from above and 2 x 100mm screws from below. 

8 x 100mm screws needed 

 

 54 x 70mm screws needed. 



 
Free Standing Blind Installation Instructions ς Part 2 

4 
 

     

       

           

Fit the 2 number approx. 2.7m long 38x63mm side 

diagonal braces- ensure the braces are fitted 

apposing each other. Fitted on the inside of the 

support legs. 

Use 2 x 100mm screws at each end of the braces 

to secure to the front and back main support legs. 

4 x 100mm screws needed 

 

 

 

 

Cut off all overhanging brace timbers 

 


